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3 RO KERA

(11) FBOKIEEZERF FKE v 2 —EW

(2) BYEFROMERE

@© R (XU —§K5R)

24 7K A H H H28.4.5 @ H28.5.11 | H28.6.7 | H28.7.5 | H28.8.3
& S (©) 7.0 18.8 18.2 21 23.2
7K ) (©) 13.0 16.2 16.7 20. 8
— 154 gk ({8 /mL) 0 0 0 0 0
X % (MPN/100mL) 0 0 0 0 0
B RFITAEROPZEDONHREDY (mg/L) — — <0. 0003 — -
KR K O F O b A& W (mg/L) — — | <0.00005 — -
t L v kX ZE O AEWY (mg/L) — — <0. 001 — —
m k O F o & W (mg/L) — — <0. 001 - —
t # K O 2 o b A& W (mg/L) — — <0. 001 - —
A A - N | (mg/L) — — <0. 005 - —
i fid 1S HE = F* (mg/L) — — <0. 004 — -
ST A A K R R T v (mg/L) — — <0. 001 — —
HREEE LK OEMEEBEZRZER (mg/L) — — 0.28 — —
7 v F K O EF 0/ E W (mg/L) — — <0. 08 — -
r v F L O EF 0 E W (mg/L) — — 0. 06 — —
| #H 1t R F# (mg/L) — — | <0.0001 - —
1, 4- D% 7 e va N (mg/L) — — <0. 001 — —
vA-,2-YVZmuxF LK
T x-L,2-Y e F Ly (mg/L) — — <0. 0002 — —
v 7 = = 2o (mg/L) — — <0.0001 — —
S r 5 Z v owm x F L v (mg/L) — — <0.0001 — —
kYU Y/ v v = F L o (mg/L) — — <0.0001 — —
~ N + N (mg/L) — — <0.0001 — —
ey 3 [ (mg/L) <0. 06 <0. 06 <0. 06 0. 06 0. 06
7 = | W [ (mg/L) — — <0. 002 — -
4 = = A JL N (mg/L) — —|0.0001 — —
DA 7 = = [ [ (mg/L) — — <0. 002 — -
Y 7 v % 7 u na A K v (mg/L) — — | 0.0002 — —
= S [ (mg/L) — — <0. 001 — —
w o U N o om X E v (mg/L) — — | 0.0005 — —
k ) 7 = =0 (mg/L) — — <0. 002 — —
=T S A = = S S (mg/L) — —0.0002 — —
7 = £ i I N (mg/L) — — <0.0001 — —
A A A 7 A F B KR (mg/L) — — <0. 002 — —
m e kX O F o b & W (mg/L) — — <0. 005 - —
T2 KO ZETOlEY (mg/L) — — <0. 01 — —
% Kk O O b & W (mg/L) — — <0. 01 - —
&k O F o bk A WY (mg/L) — — <0. 01 — —
FT PV U LAKEOEZEDOIREDY (mg/L) — — 10 — —
~ v kR E DO EWY (mg/L) — — <0. 005 - —
H (4 W A 7 N (mg/L) 4.4 4.3 4.4 4.5 4.7
NV T, TR NEGEE) (mg/L) — — 100 — —
7K s J53 E{g W] (mg/L) — — 228 — —
= 4 4 v Rom E M A (mg/L) — — 0. 01 — —
DA - 7+ A < Ng (mg/L) — — — — —
- A F A4 VKRV F — L (mg/L) - _ _ _ —
H A4 A R E OE A (mg/L) - —  <0.005 — —
7 = / - N # (mg/L) - —  <0.0005 — —
AW (& F %K% (T00) O & (mg/L) 0.1 0.1 0. 1 <0. 1 0. 1
p H i 7.3 7.6 7.3 7.4 7.5
S Bl | BEaL ) BEAL | BEaL | BEWAeL
= = HEhL | BE2L BEAelL | BEELRL | BEAL
&) 3 (BD) <0.5 <0.5 0.5 0.5 0.5
) E (BE) 0.1 <0.1 <0.1 0. 1 <0.1
153 %’ ey e (mg/L) 0.3 0.3 0.3 0.4 0.3
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H28.9.6 | H28.10.4 | H28.11.9 |H28.12.6 3% H29.1.11 | H29.2.8 | H29.3.8 [N e/l St
i Ei & fif i i fif§
23.0 22.2 8.5 12.0 -1.0 1.2 1.6 23.2 -1.0 13.0
21.0 19.5 16.5 12.9 12.5 13.0 11.9 21.0 11.9 16. 1
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
<0. 0003 —| <0.0003 — <0.0003] <0.0003  <0.0003  <0.0003
<0. 00005 — — | <0.00005 — —| <0.00005| <0.00005 <0.00005 <0.00005
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
<0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
<0. 004 — — <0. 004 — — <0. 004 <0. 004 <0. 004 <0. 004
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
0.30 — — 0.29 — — 0.26 0.30 0.26 0.28
<0. 08 — — <0. 08 — — <0.08 <0. 08 <0. 08 <0. 08
0. 06 — — 0.06 — — 0.07 0.07 0. 06 0.06
<0. 0001 — — | <0.0001 — —| <0.0001] <0.0001  <0.0001  <0.0001
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
<0. 0002 — —| <0.0002 — —| <0.0002] <0.0002  <0.0002|  <0.0002
<0. 0001 — — | <0.0001 — —| <0.0001] <0.0001  <0.0001  <0.0001
<0. 0001 — — | <0.0001 — —| <0.0001] <0.0001  <0.0001  <0.0001
<0. 0001 — — | <0.0001 — —| <0.0001] <0.0001  <0.0001  <0.0001
<0. 0001 — — | <0.0001 — —|  <0.0001] <0.0001  <0.0001  <0.0001
<0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06
<0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
0. 0001 — — | 0.0002 — —|  <0.0001] 0.0002 <0.0001  0.0001
<0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
0. 0002 — — | 0.0003 — —| 0.0002 0. 0003 0. 0002 0. 0002
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
0. 0004 — —|0.0009 — —| 0.0003 0. 0009 0. 0003 0. 0005
<0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
0. 0002 — — | 0.0003 — —| 0.0001 0. 0003 0. 0001 0. 0002
<0. 0001 — — | 0.0001 — —| <0.0001] 0.0001 <0.0001  <0.0001
<0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
<0. 005 — — 0.011 — — <0. 005 0.011 <0. 005 <0. 005
<0. 01 — — <0.01 — — <0.01 <0.01 <0. 01 <0.01
0.02 — — <0.01 — — 0.01 0.02 <0. 01 <0.01
<0. 01 — — <0.01 — — <0.01 <0.01 <0. 01 <0.01
10 — — 12 — — 12 12 10 11
<0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
4.4 4.2 4.5 4.6 4.5 4.7 4.7 4.7 4.2 4.5
91 — — 110 — — 120 120 91 110
209 — — 234 — — 246 246 209 229
<0. 01 — — <0.01 — — <0.01 <0.01 <0. 01 <0.01
<0. 000001 — — — — — — — — | <0. 000001
<0. 000001 — — — — — — — — | <0. 000001
<0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
<0. 0005 — — | <0.0005 — —| <0.0005] <0.0005  <0.0005  <0.0005
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 0.1 0.1 0.1 <0. 1 <0. 1
7.0 7.3 7.3 7.3 7.4 7.4 7.3 7.6 7.0 7.3
Bl | BEaL ) BEAL | BEAoL ) BEAaL ) BEALL | AWARL — — HEL
Bl | BEaL ) BEAL | BEAaL ) BEWAaL ) BEALL | BAWARL HBERL
0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 <0.5
<0.1 0.1 <0. 1 <0. 1 <0. 1 0.1 <0. 1 <0. 1 <0.1 0.1
0.2 0.3 0.3 0.4 0.3 0.3 0.3 0.4 0.2 0.3
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3 RO KERA

(11) FBOKIEEZERF FKE v 2 —EW

(2) BYEFROMERE

@© R (XU —§K5R)

ZIN

% K s A H H28.4.5  H28.5.11 @ H28.6.7 | H28.7.5 | H28.8.3
Ty FEUVUEOPZETOIAEY (mg/L) — —| <0.0003 — —
v 7 v kWY E O AE D (mg/L) — —|  <0.0002 — —
= v F NV EDRZEOIRAEDY (mg/L) — — <0.001 — —
L,2- ¥ / w wu == X v (mg/L) — — <0. 0001 — —
b JL - v (mg/L) — — | <0.0001 — —
THEANVNEY (- F LN F L) (mg/L) — — — - —
i) e # 7 (mg/L) — — <0. 06 — —
Y g w7 & = kU b (mg/L) — — <0.001 — —
) K 7 i v — JL (mg/L) — — <0.001 — —
2 S Ei| — — — — —
bl Bl R [ (mg/L) — — - — —
LL,1- UV 7 v ow x Z v (mg/L) — — | <0.0001 — —
A F ) -t- 7 F )L —F )L (MBE) (mg/L) — —| <0.0001 — —
B K ®m E (T O N ) <1 <1 <1 <1 <1
BaEME (5 4% ) 78 ) — — — — —
(s = 5 % il (f# /mL) 12 0 5 2 14
LI- ¥ 7 v o =x F L v (mg/L) — —| <0.0001 — —
Bk = P 3 iful (MPN/100mL) — — — — —
£ b ¥ W B R E R & (mg/L) — — — — —
b 17 i F (mg/L) — — — — —
v L > 1 (MPN/L) — - — - -
I = i3 3F fia (MPN/L) — — - — —
PN 5 B (MPN/100mL) 0 0 0 0 0
* O M W #H R (MPN/100mL) — — — — —
7 v ' = 7 B E # (mg/L) — — — — —
bl v o 4 N (mg/L) — — — — —
~ J kS > 7 A (mg/L) — — — — —
it iy A 7 N (mg/L) — — 65 — —
b U N \v A X v R (mg/L) — — — — —
7 L b ] B (mg/L) — — — — —
o = 5 H R (mS/m) 27.1 27.6 26. 3 28.4 30. 1
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H28.9.6 = H28.10.4  H28.11.9 |H28.12.6 % H29.1.11 | H29.2.8 H29. 3.8 K /) S
<0. 0003 — — <0. 0003 — — <0. 0003 <0. 0003 <0. 0003 <0. 0003
<0. 0002 — — <0. 0002 — — <0. 0002 <0. 0002 <0. 0002 <0. 0002

<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001

<0. 001 — — — — — — — — <0.001
<0. 06 — — <0. 06 — — <0. 06 <0. 06 <0. 06 <0. 06

<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001

<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0.001

<0. 001 — — — — — — — — <0. 001

6.1 — — — — — — — — 6.1
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1

-1.5 — — — — — — — — -1.5

15 28 4 600 22 10 2 600 0 60
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001

0 0 0 0 0 0 0 0 0 0

24 — — — — — — — — 24

7.7 — — — — — — — — 7.7

66 — — 73 — — 79 79 65 71

45 — — — — — — — — 45

24. 4 21.2 25.2 28.8 28.5 30. 5 29. 7 30. 5 21.2 27.3
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3 RaAKRRDOKEMRA
(11 PHEAKIEE D FRKEE 2 =8N
(2) BULFEROMIERE
@O etk (1 Z U —KGR)

£ K i H H H28.9. 6 2 7K i A H H28.9. 6
L3-Y Jenm7  na’” v (DD (mg/L)| <0.0002 F 4 7 7 x — b A F b (mg/L)| <0.0001
2,2-DPAC % Z K v ) (mg/L)| <£0.0002 F F N v o 7 (mg/L)]| <0.0001
2, 4-D (2, 4-PA) (mg/L) | <0.0001 F v 7 v 7 (MBPMC) (mg/L)| <0.0001
EPN (mg/L) | <0.00001 b Jj Vi = =5 JL (mg/L)| <0.00005
MCPA (mg/L) | <0.00005 U 7 w v A&~ (DEP) (mg/L)| <0.00005
7 DV e 7 2 (mg/L)| <0.0001 U 5 Y — L (mg/L)| <0.0001
7 + 7 - — L (mg/L)| <0.00005 Vo7 v Z U v (mg/L)| <0.0001
7 b 7 D > (mg/L)| <0.0001 7 7 =4 S 3 K (mg/L)| <0.0001
7 = = N 2 (mg/L)| <0.00001 =4 ~ = A 2 (mg/L)| <0.00001
7 N b = 2 (mg/L)| <0.00005 v 5 Y ¥ v 7 = v (mg/L)]| <0.00001
7 7 7 = — v (mg/L)[ <0.0001 YU x—h(ETFYL— 1) (mg/L)| <0.0001
4 Y ¥ ¥ F 4 v (mg/L)| <0.00005 vy F 7 = v F G v (mg/L)]| <0.00001
4 vV 7 = v & A (mg/L)| <0.00001 vy 7 F  H v 7 (mg/L)| <£0.0001
A4 YV ZF v H N 7 MIPC) (mg/L)| <0.0001 =4 =t * = v (mg/L)| <0.0001
A4 Y 7 v F F F v (IPT) (mg/L)| <0.0001 7 + - & = JV (mg/L) [<0. 000005
A4 7 m ~X o &/ A (IBP) (mg/L)| <0.0001 7 = = k v F F > MEP) (mg/L)| <0.0001
A4 v ¥ 2 7 7 v (ng/L)| <0.00005 7 = J 7 H v 7 (BPMC) (mg/L)| <0.0001
— 2 7 w H N 7 (mg/L)| <0.0001 7 = v F F v (PP) (mg/L)| <0.00005
= ¥ 4 7 = v & A (EDDP) (mg/L)| <0.00005 7 = v bk = — bk (PAP) (mg/L)| <0.00005
Tz 7 x v 7 ua v 7 A (mg/L)] <0.0001 7 = v b 7 ¥ I K (mg/L)| <0.0001
T RYTPTY— (s a A=) (mg/L)| <0.00001 7 VA 7 A K (mg/L)| <0.0001
T RALT (R ) (ng/L)|  <0.0001 7 v Vi = — b (mg/L)| <0.0001
% v s v A A v (mg/L)| <0.0001 7 v 3 2 A (mg/L)| <0.0001
% v v 8 (A H 8 ) (mg/L)| <0.0001 7 7 m 7 = ¥ v (mg/L)| <0.0001
4+ U # 2 kr mw v v (ng/L)] <0.0001 7 JL 7 Y e A (mg/L)|  <0.0001
H = Va N 2 (mg/L)| <0.00001 7 v F 7 7 v — J (mg/L)| <0.0001
H 7 = v A b B — JL (mg/L)| <0.00005 7 = v 3 & > (mg/L)| <0.0001
H oo U (NAO) (mg/L)| <0.0001 A = ¥ %+ Rz 2 (mg/L)| <0.00001
/Y VR S = A S R (mg/L)| <0.0001 7 v ¥ a2 F Y — L (mg/L)| <0.0001
H JL i 7 = > (mg/L)| <0.00005 -7 = = A N K (mg/L)| <0.0001
x /) 7 5 2 v (ACN) (mg/L)|[ <0.00005 7 v N Y — L (mg/L)| <£0.0001
* Y 7 vl > (mg/L)| <0.0001 A = * 7 ¥ F (mg/L)| <0.0001
v N L = v (mg/L)| <0.0001 ~ J 2 Jb (mg/L)| <0.0002
7w A v v 7 (mg/L)| <0.0001 ~ N D Vi = v (mg/L)| <0.0001
s v )b = b v 7 = v (CNP) (mg/L)| <0.00001 ~ v v v v oy o om v (mg/L)| <0.0001
7 w o F U & A (mg/L)| <0.00001 N v Y 7 = F v (mg/L)| <0.00001
s @m w F v = L (TPN) (mg/L)| <0.0001 ~ v vl V' v (mg/L)| <0.0001
D 7 7 D > (mg/L)| <0.00001 ~N v F 4 A& U v (mg/L)| <0.0001
¥ 7 ) & % (CYAP) (mg/L)| <0.00001 ~ v 7 5 H A 7 (mg/L)| <0.0001
D % =4 N (DCMU)  (mg/L) | <0.0001 Ry 7T Y v (RNRzZ2nr P ) (mg/L)| <0.0001
Y s . X = 5 OBN) (mg/L)| <0.0001 ~ v 7 v & — b (mg/L)| <0.0001
Y v w A AR % (DDVP) (mg/L)| <0.00005 A A F 7 ¥ — | (mg/L)| <0.00001
ALK (= FILF A A RY) (mg/L)| <0.00001 ~ 7 F 4 v (<~ 7 Y v ) (mg/L)| <0.0001
D F *+ =4 JL (mg/L)| <0.00005 A a2 7 wm v 7 (MCPP) (mg/L)| <0.0001
Yoo v Kk vy 77 F v (mg/L)| €0.00005 A v N JV (mg/L)| <0.0001
D < D N (CAT) (mg/L)| <0.00001 A v 7 * D b (mg/L)|  <0.0001
oA xR U ¥ (mg/L)| <0.0001 A F K F F v (DMTP) (mg/L)| <0.00001
D A k = — I (mg/L)| <0.0001 A F A KX 4 A m » (mg/L)| <0.0001
v A N U > (mg/L)| <0.0001 A b X /J A b v B ¥ (mg/L)| <0.0001
YA ¥~ L — b+ (mg/L] <0.00001 A 5 i 7 2 v (mg/L)| <0.0001
vl A 7 4 J v (mg/L)| <0.00001 A 7 = F ¥ v b+ (mg/L)| <0.0001
vl A A = > (mg/L)| <0.0001 A -7 = = Jb (mg/L)| <0.0001
¥ 7 D = )V (mg/L)| <0.0001 £ j 3 — I (mg/L) | <0.00005
¥ v 7 2 (mg/L)| <0.0001
F 7 4 7 JV 7 (mg/L)| <0.0001
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£ K i H H H28.9. 6 2 7K i A H H28.9. 6
EPN 7 * V > (mg/L)| <0.00001 F 7T A % Y & (mg/L)| <0.0001
A4 Y XY F 4 v F F Y v (mg/L)| €0.00005 ¥ - IV A N K (mg/L)| <0.0001
A4V 7 = K A A F Y (mg/L)|<0.000005 7T b7 7w LB AR A (CWMP) (mg/L)| <0.0001
- v K Z2 g 7 = — b (mg/L)| <0.0001 > b~ 7 o F Y — ) (mg/L)| <0.0001
CNP- 7 3 J & (mg/L) [€0. 000001 T 7 7 = /¥ K (mg/L)] <£0.0001
7 v ¥ U KR AL F Y v (mg/L)] <0.00001 Y X F W Xy 7 = F ) (mg/L)| <0.0001
A4 T YV ) v A& F v v (mg/L)| €0.00001 U 7 o 2 Y — L (mg/L)| <0.0001
7 x=buaFF 4 XY (mg/L)] <0.00005 + 7 v 7 = K (mg/L)| <0.0001
MPP 2 L & F ¥ K (mg/L)| <0.00005 = va N =4 5 2 (mg/L)| <0.0001
MPP 2 JL N > (mg/L)| <0.00005 XNy w7 b Z Y — b (mg/L)| <0.0001
MPP %+ ¥ v > (mg/L)| <0.00005 [ A bk = v v (mg/L)| <0.0001
MPP 4 &% ¥V v A2 b A % ¥ F (mg/L)| <0.00005 o Y A2 7 a rx F o o(mg/L)| <0.0001
MPP + % vV > Z2 A & > (mg/L)| <0.00005 U Ny 7 A F L (mg/L)| <0.0001
7 % I &k A 4 ¥ Y v (mg/L)| <0.0001 Y I ks A A F L (mg/L)| <0.0001
7 v ® 7 F K5 7 v F (mg/L)| <£0.0001 7 7 A k =4 JL (mg/L)| <0.0001
~ 7 F 4 v 4 % v v (mg/L)| <£0.0001 7 N 7T Y & v 7 (mg/L)| <0.0001
7 w2 = 5 (DCPA) (mg/L)| <0.0001
7 kv X 7 Y F (mg/L)| <0.0001 A =1 2 A 2 (mg/L)| <0.00001
4 2 % 27 v ZF U F (mg/L)| <0.0001 7 v % L ¥ v bk (BPPS) (mg/L)| <0.0001
> 7 = F Y —  JL (mg/L)| <£0.0001 7 w K ¥ Z L (PHO) (mg/L)| <0.0001
=4 7 7 = Rz 2 (mg/L)| <0.0001 VA = A k ) v (mg/L)| <0.0001
7 N A 7 7 I F (mg/L)| <0.00001 N X A4 K B v 7 (mg/L)| <0.00005
7 = -~ T JL (mg/L)| <0.0001 D ¥ D 2 (mg/L)| <0.00001
~ vy b F Y Y v (mg/L)| <0.0001 N 2 il ) K (mg/L)| <0.0001
2 i = > (mg/L)| <0.0001 £/ 7 un b A A (mg/L)| <0.00001
A 7 7 m  — L (mg/L)| <0.0001 ) = E = v (mg/L)| <0.0001
T YNV F g =5- A F L (mg/L)| <0.0001 7 Y ¥ v 2 k v v » (mg/L)| <0.0001
7 A bk ) > (mg/L)| <0.0001 4 A = D 7+ v (mg/L)| <0.0001
A4 F XN~ T 4 F (mg/L)| <0.0001 Vi =4 = ks 7 (mg/L)| <0.0001
A4 <= Y 2 A 7 v v (mg/L)]| <0.0001 v va o =t v~ (mg/L)| <0.0001
7 = =@ F Y — s P (mg/L)| <0.0001 > = N 7 wa — J (mg/L)| <0.0001
= F ¥ ¥ A2 A 7 v v (ng/L)| <£0.0001 kv 7 owv R A A F gL (mg/L)| <0.0001
- F N v ¥ = F (mg/L)| <0.0001 N nm R L 7 v v A F L (mg/L)| <0.0001
4+ * Y 7 X A (mg/L)] <0.0001 v g = v 7 A (mg/L)]| <0.0001
%+ x Va 2 v (mg/L)| <0.0001 vy 7 e % v 7 = v (mg/L)| <0.0001
X ¥ o kx v ¥ = F o (mg/L)| <0.0001 7 5 ¥ =z g 7 v v (mg/L)| <0.0001
s v F 7 = ¥ v (mg/L| <0.0001 4 L b~ Z = v (mg/L)| <0.0001
s v < 7 = /J ¥ F (mg/L)| <0.0001 ~ v Jj K (SAP) (mg/L)[ <0.0001
7 m L B — )L Y A F )L (TICTP) (mg/L)| <0.0001 N v A 7 v v A F v (mg/L)| <£0.0001
s/ v b ¥ U K A A F b (mg/L)| <0.0001 AR + A Jb (mg/L)| <0.0002
Y7 v 7 = v F F v (ECP) (mg/L)| <0.00005 PV Z R AAFLFFR Y (mg/L)| <0.0001
D 7 = A D v (mg/L)[ <0.0001
Yy om A 7 v v 7 (ng/L)| <0.0001 + ® ¥ ¥ 7 Y v (mg/L)| <0.0001
v ) A g 7 v v (mg/L)| <0.0001 y \m Ak ¥ ¥ = Jv (mg/L)| <0.0001
P4 J va 7 7 >~ (mg/L)| <0.0001 YV ZuobEr-2-7 bF v =F /) (mg/L)| <0.0001
Y 7 = J =2 F v — JL (mg/L)| <0.0001 = F ®m 7 = v (NIP) (mg/L)| <0.0001
v 7 L X v X um v (mg/L)| <0.0001 VA =1 S V4 v (mg/L)| <0.0001
Y 7 v oo F Y — L (mg/L)| <0.0001 - & b U x — b (mg/L)| <0.0001
D - = v = U (mg/L) | <0.0001
Y A o F Y — L (mg/L)| <0.0001
v R F E v kK A (mg/L) <0. 0001
vy 7 7 N F 7 = v (mg/L)| <0.0001
D4 v A 7 ) v (mg/L)[ <0.0001
F 7 7 v 7 K (mg/L)| <0.0001
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3 RO KERA

(11) FBOKIEEZERF FKE v 2 —EW

(2) BYEFROMERE
@ AAJR (i / ARG %)

24 7K A H H H28.4.5 @ H28.5.11 | H28.6.7 | H28.7.5 | H28.8.3
& S (©) 7.5 19.2 17.5 20.5 25.0
7K ) (©) 12.2 14.5 5.0 17.0 18.0
— 154 gk ({8 /mL) 0 0 0 0 0
X % (MPN/100mL) 0 0 0 0 0
B RFITAEROPZEDONHREDY (mg/L) — — <0. 0003 — —
KR K O F O b A& W (mg/L) — — | <0.00005 — -
t L v kX ZE O AEWY (mg/L) — — <0. 001 — —
m k O F o & W (mg/L) — — <0. 001 - —
t # K O 2 o b A& W (mg/L) — — <0. 001 - —
A A - N | (mg/L) — — <0. 005 - —
i it 1S i3 z= F# (mg/L) — — <0. 004 - —
T MM A v RNk T v (mg/L) — — <0. 001 — —
HREEE LK OEMEEBEZRZER (mg/L) — — 0.47 — —
7 v F K O EF 0/ E W (mg/L) — — <0. 08 — —
r v F L O EF 0 E W (mg/L) — — <0.01 — -
| #H 1t R F# (mg/L) — — | <0.0001 - —
1, 4- > 7 e va N (mg/L) — — <0. 001 — —
vA-,2-YVZmuxF LK
N A-L2-Y /ra T L (mg/L) — —| <0.0002 — —
v 7 = = 2o (mg/L) — — <0.0001 — —
S r 5 Z v owm x F L v (mg/L) — — <0.0001 — —
kYU Y/ v v = F L o (mg/L) — — <0.0001 — —
~ N + N (mg/L) — — <0.0001 — —
ey 3 [ (mg/L) <0. 06 <0. 06 <0. 06 0. 06 0. 06
7 i |=d i3 fiz (mg/L) — — <0. 002 — —
7 | = N L U (mg/L) — — <0.0001 — —
4 7 = =t fifE fiz (mg/L) — — <0. 002 — —
Y 7 v % 7 u na A K v (mg/L) — — | 0.0002 — —
= S [ (mg/L) — — <0. 001 — —
WO U N o m X 2 (mg/L) — —0.0002 — —
k ) 7 =4 o e iR (mg/L) — — <0. 002 — —
=T S A = = S S (mg/L) — — <0.0001 — —
va = £ i L N (mg/L) — — <0.0001 — —
A A A 7 A F B KR (mg/L) — — <0. 002 — —
m e kX O F o b & W (mg/L) — — 0. 007 - —
T2 KO ZETOlEY (mg/L) — — <0.01 — —
% Kk O O b & W (mg/L) — — <0. 01 - —
&k O F o bk A WY (mg/L) — — <0. 01 — —
FT PV U LAKEOEZEDOIREDY (mg/L) — — 5.6 — —
~ v kR E DO EWY (mg/L) — — <0. 005 - —
H (4 W A 7 N (mg/L) 3.1 3.0 3.0 3.1 3.1
NV T, TR NEGEE) (mg/L) — 64 — —
7 i 53 E{g W] (mg/L) — — 126 — —
= 4 4 v Rom E M A (mg/L) — — 0. 01 — —
D4 B 7 A 2 v (mg/L) — — — — —
2- A F A4 VKRR I — b (mg/L) — — — - —
¥ 4 & > K om i A (mg/L) — — <0. 005 - —
7 - J — L $A (mg/L) — —|  <0.0005 — —
H#Y (&A% xR #E (T0C) O & (mg/L) 0.1 0.1 0. 1 <0. 1 0. 1
p H i 7.8 7.8 7.8 7.9 7.9
S Bl | BEaL ) BEAL | BEaL | BEWAeL
= = HEhL | BE2L BEAelL | BEELRL | BEAL
&) 3 (BD) <0.5 <0.5 0.5 0.5 0.5
) E (BE) 0.1 <0.1 <0.1 0. 1 <0.1
153 5)’ ey e (mg/L) 0.3 0.3 0.3 0.3 0.3
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128.9.6 | H28.10.18 H28.11.9 | H28.12.6 | H29.1.11 @ H29.2.8 | H29.3.8 [N e/l St
i 5 & i i Ei fif§ —
24.0 20. 4 6.0 12.0 4.0 2.0 6.9 25.0 2.0 13.8
21.0 17.0 16.0 12.6 11.0 11.2 9.6 21.0 9.6 14.6
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
<0. 0003 —| <0.0003 — <0.0003| <0.0003  <0.0003  <0.0003
— | <0.00005 — | <0.00005 — —| <0.00005| <0.00005 <0.00005 <0.00005
— <0. 001 — <0.001 — — <0.001 <0. 001 <0. 001 <0. 001
— <0. 001 — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
— <0. 001 — <0. 001 — — <0. 001 <0.001 <0. 001 <0. 001
— <0. 005 — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
— <0. 004 — <0. 004 — — <0. 004 <0. 004 <0. 004 <0. 004
— <0. 001 — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
— 0.48 — 0. 47 — — 0. 46 0. 48 0. 46 0. 47
— <0.08 — <0.08 — — <0. 08 <0. 08 <0. 08 <0. 08
— <0.01 — <0.01 — — <0.01 <0.01 <0. 01 <0.01
— | <0.0001 — | <0.0001 — —| <0.0001] <0.0001  <0.0001  <0.0001
— <0. 001 — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
—| <0.0002 —| <0.0002 — —| <0.0002] <0.0002  <0.0002|  <0.0002
— | <0.0001 — | <0.0001 — —| <0.0001] <0.0001  <0.0001  <0.0001
— | <0.0001 — | <0.0001 — —| <0.0001] <0.0001  <0.0001  <0.0001
— | <0.0001 — | <0.0001 — —| <0.0001] <0.0001  <0.0001  <0.0001
— | <0.0001 — | <0.0001 — —|  <0.0001] <0.0001  <0.0001  <0.0001
<0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06
— <0. 002 — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
— | <0.0001 — | <0.0001 — —| <0.0001] <0.0001  <0.0001  <0.0001
— <0. 002 — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
— | 0.0002 — | 0.0002 — —| 0.0001 0. 0002 0. 0001 0. 0002
— <0. 001 — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
— | 0.0002 — | 0.0005 — —| 0.0001 0. 0005 0. 0001 0. 0003
— <0. 002 — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
— | <0.0001 — | 0.0001 — —| <0.0001] 0.0001 <0.0001  <0.0001
— | <0.0001 — | 0.0001 — —|  <0.0001] 0.0001 <0.0001  <0.0001
— <0. 002 — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
— 0. 006 — <0. 005 — — <0. 005 0. 007 <0. 005 <0. 005
— <0.01 — <0.01 — — <0.01 <0.01 <0. 01 <0.01
— <0.01 — <0.01 — — <0.01 <0.01 <0. 01 <0.01
— <0.01 — <0.01 — — <0.01 <0.01 <0. 01 <0.01
— 5.8 — 5.7 — — 5.6 5.8 5.6 5.7
— <0. 005 — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
7.2 3.2 3.1 3.2 3.2 3.2 3.1 7.2 3.0 3.5
— 65 — 64 — — 65 65 64 65
— 125 — 125 — — 124 126 124 125
— <0.01 — <0.01 — — <0.01 <0.01 <0. 01 <0. 01
— | <0. 000001 — — — — — — — | <0. 000001
— | <0. 000001 — — — — — — — | <0. 000001
— <0. 005 — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
— | <0.0005 — | <0.0005 — —|  <0.0005] <0.0005  <0.0005  <0.0005
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1
7.5 7.8 7.9 7.9 7.8 7.9 7.9 7.9 7.5 7.8
Bl | BEaL ) BEAL | BEAaL ) BEAaL ) BEALL | BAWARL — — HEL
Bl | BEaL ) BEAL | BEAoL ) BEWAaL ) BEALL | BAWARL HBERL
0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 0.5 <0.5
<0. 1 0.1 <0. 1 <0. 1 <0.1 0.1 <0. 1 <0. 1 <0. 1 0.1
0.2 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.2 0.3
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3 RO KERA

(11) FBOKIEEZERF FKE v 2 —EW

(2) BYEFROMERE
@ AAJR (i / ARG %)

% K s A H H28.4.5  H28.5.11 @ H28.6.7 | H28.7.5 | H28.8.3
Ty FEUVUEOPZETOIAEY (mg/L) — —| <0.0003 — —
v 7 v kWY E O AE D (mg/L) — —|  <0.0002 — —
= v F NV EDRZEOIRAEDY (mg/L) — — <0.001 — —
L,2- ¥ / w wu == X v (mg/L) — — <0. 0001 — —
b JL - v (mg/L) — — | <0.0001 — —
THEANVNEY (- F LN F L) (mg/L) — — — - —
i) e # 72 (mg/L) — — <0. 06 — —
Y g w7 & = kU b (mg/L) — — <0.001 — —
) K 7 i v — JL (mg/L) — — <0.001 — —
2 S Ei| — — — — —
g e R i3 (mg/L) — — — — —
LL1I- Y 7 vwow x X v (mg/L) — — <0. 0001 — —
A F ) -t- 7 F )L —F )L (MBE) (mg/L) — —| <0.0001 — —
B K ®m E (T O N ) <1 <1 <1 <1 <1
BaEME (5 4% ) 78 ) — — — — —
e = 5 % il (f# /mL) 10 26 22 12 34
LI- ¥ 7 v o =x F L v (mg/L) — —| <0.0001 — —
Bk = P 3 iful (MPN/100mL) — — — — —
£ b ¥ W B R E R & (mg/L) — — — — —
b 17 i F (mg/L) — — — — —
v L > 1 (MPN/L) — - — - -
I = i3 3F fia (MPN/L) — — - — —
PN Vi B (MPN/100mL) 0 0 0 0 0
& fE Mk d 8 Bk (MPN/100mL) — — — — —
T o o ® = 7 B % & (mg/L) - - - - -
7 v v v 2 (mg/L) - - - - -
~ 7 = v v WA (mg/L) — — — — —
it iy A 7 N (mg/L) — — 19 — —
b U N \v A X v R (mg/L) — — — — —
B 7 L b ] iy (mg/L) — — — — —
o = 5 g R (mS/m) 15.8 15.6 15.6 15.8 15.6
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H28.9.6  H28.10.18 H28.11.9 | H28.12.6 | H29.1.11 | H29.2.8 H29.3.8 K /) S
— <0. 0003 — <0. 0003 — — <0. 0003 <0. 0003 <0. 0003 <0. 0003
— <0. 0002 — <0. 0002 — — <0. 0002 <0. 0002 <0. 0002 <0. 0002
— <0.001 — <0. 001 — — <0. 001 <0. 001 <0. 001 <0.001
— <0. 0001 — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001
— <0. 0001 — 0. 0001 — — <0. 0001 0. 0001 <0. 0001 <0. 0001
— <0.001 — — — — — — — <0. 001
— <0. 06 — <0. 06 — — <0. 06 <0. 06 <0. 06 <0. 06
— <0. 001 — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
— <0. 001 — <0. 001 — — <0. 001 <0. 001 <0. 001 <0.001
— <0. 001 — — — — — — — <0. 001
— 0.7 — — — — — — — 0.7
— <0. 0001 — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001
— <0. 0001 — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— —0.8 — — — — — — — -0.8
36 25 42 32 22 5 16 42 5 24
— <0. 0001 — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001
0 0 0 0 0 0 0 0 0 0
— 20 — — — — — — — 20
— 3.7 — — — — — — — 3.7
— 21 — 20 — — 21 21 19 20
— 47 — — — — — — — 47
28.8 16.0 15.7 15.9 16.0 15.8 15.9 28.8 15.6 16.9
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3 RaAKRRDOKEMRA

(11) EEAKE =T RikKEE 2 —8N
(2) Bk KOS B AR A
@ AlaE (2 RKigKER)

£ K i H H H28. 10. 18 % 7K i A H H28. 10. 18
L3-Y Jenm7  na’” v (DD (mg/L)| <0.0002 F 4 7 7 x — b A F b (mg/L)| <0.0001
2,2-DPAC % Z K v ) (mg/L)| <£0.0002 F F N v o 7 (mg/L)]| <0.0001
2, 4-D (2, 4-PA) (mg/L)| <0.0001 F v 7 H v 7 (MBPMC) (mg/L)| <0.0001
EPN (mg/L) | <0.00001 b Jj Vi = =5 JL (mg/L)| <0.00005
MCPA (mg/L) | <0.00005 F U 7 w ) A& » (DEP) (mg/L)| <0.00005
7 DV E 7 2 (mg/L)| <0.0001 U 5 Y — L (mg/L)| <0.0001
7 + 7 - — L (mg/L)| <0.00005 Vo7 v Z U v (mg/L)| <0.0001
7 b 7 D > (mg/L)| <0.0001 7 7 =4 S 3 K (mg/L)| <0.0001
7 = = N 2 (mg/L)| <0.00001 =4 ~ = A 2 (mg/L)| <0.00001
7 N b = 2 (mg/L)| <0.00005 v 5 Y ¥ v 7 = v (mg/L)]| <0.00001
7 7 7 = — v (mg/L)[ <0.0001 YU x—h(ETFYL— 1) (mg/L)| <0.0001
4 Y ¥ ¥ F 4 v (mg/L)| <0.00005 vy F 7 = v F G v (mg/L)]| <0.00001
4 vV 7 = v & A (mg/L)| <0.00001 vy 7 F  H v 7 (mg/L)| <£0.0001
A4 YV ZF v H N 7 MIPC) (mg/L)| <0.0001 =4 =t * = v (mg/L)| <0.0001
A4 Y 7 v F F F v (IPT) (mg/L)| <0.0001 7 + - & = JV (mg/L) [<0. 000005
A4 7 v X v K A (IBP) (mg/L)| <0.0001 7 = = k v F F > MEP) (mg/L)| <0.0001
A4 v ¥ 2 7 7 v (ng/L)| <0.00005 7 = J 7 H v 7 (BPMC) (mg/L)| <0.0001
— 2 7 w H N 7 (mg/L)| <0.0001 7 = v F F v (PP) (mg/L)| <0.00005
= ¥ 4 7 = v & A (EDDP) (mg/L)| <0.00005 7 = v bk = — bk (PAP) (mg/L)| <0.00005
Tz 7 x v 7 ua v 7 A (mg/L)] <0.0001 7 = v b 7 ¥ I K (mg/L)| <0.0001
T RYTPTY— (s a A=) (mg/L)| <0.00001 7 VA 7 A K (mg/L)| <0.0001
T RALT (R ) (ng/L)|  <0.0001 7 v Vi = — b (mg/L)| <0.0001
% v s v A A v (mg/L)| <0.0001 7 v 3 2 A (mg/L)| <0.0001
% v v 8 (A H 8 ) (mg/L)| <0.0001 7 7 m 7 = ¥ v (mg/L)| <0.0001
+ U ¥ A b v B v (me/L)]| <0.0001 7 JL 7 Y e A (mg/L)|  <0.0001
H = Va N 2 (mg/L)| <0.00001 7 v F 7 7 v — J (mg/L)| <0.0001
H 7 = v A b B — JL (mg/L)| <0.00005 7 = v 3 N > (mg/L)| <0.0001
H oo U (NAO) (mg/L)| <0.0001 A = ¥ %+ Rz 2 (mg/L)| <0.00001
/Y VR S = A S R (mg/L)| <0.0001 7 v ¥ a2 F Y — L (mg/L)| <0.0001
H JL i 7 = > (mg/L)| <0.00005 -7 = = A N K (mg/L)| <0.0001
x /) 7 5 2 v (ACN) (mg/L)|[ <0.00005 7 v N Yy — L (mg/L)| <0.0001
* ¥ 7 v > (mg/L)| <0.0001 7 = £ v ¥ K (mg/L)| <0.0001
v N L = v (mg/L)| <0.0001 ~ J 2 Jb (mg/L)| <0.0002
7w A v v 7 (mg/L)| <0.0001 ~ N D Vi = v (mg/L)| <0.0001
s v )b = b v 7 = v (CNP) (mg/L)| <0.00001 ~ v v v v oy o om v (mg/L)| <0.0001
7 w o F U & A (mg/L)| <0.00001 N v Y 7 = F v (mg/L)| <0.00001
7 m m % u = L (TPN) (mg/L)| <0.0001 ~ v P V' v (mg/L)| <0.0001
D 7 7 D > (mg/L)| <0.00001 ~N v F 4 A& U v (mg/L)| <0.0001
¥ 7 ) & % (CYAP) (mg/L)| <0.00001 ~ v 7 5 H A 7 (mg/L)| <0.0001
D % =4 N (DCMU)  (mg/L) | <0.0001 Ry 7T Y v (RNRzZ2nr P ) (mg/L)| <0.0001
Y s . X = 5 OBN) (mg/L)| <0.0001 ~ v 7 v & — b (mg/L)| <0.0001
Y 7 v A K Z  (DDVP) (mg/L)| <0.00005 A A F 7 ¥ — | (mg/L)| <0.00001
ALK (= FILF A A RY) (mg/L)| <0.00001 ~ 7 F 4 v (<~ 7 Y v ) (mg/L)| <0.0001
D F *+ = JL (mg/L)| <0.00005 A a2 7 wm v 7 (MCPP) (mg/L)| <0.0001
Yoo v Kk vy 77 F v (mg/L)| €0.00005 A v N JV (mg/L)| <0.0001
D < D% N (CAT) (mg/L)| <0.00001 A v 7 * D b (mg/L)|  <0.0001
oA xR U ¥ (mg/L)| <0.0001 A F K F F v (DMTP) (mg/L)| <0.00001
D A k = — I (mg/L)| <0.0001 A F A KX 4 A m » (mg/L)| <0.0001
v A N U > (mg/L)| <0.0001 A b X /J A b v B ¥ (mg/L)| <0.0001
YA ¥~ L — b+ (mg/L] <0.00001 A L i 7 2 v (mg/L)| <0.0001
vl A 7 v J v (mg/L)| <0.00001 A 7 = F & v b (mg/L)| <0.0001
vl A A = > (mg/L)| <0.0001 A -7 = = Jb (mg/L)| <0.0001
¥ 7 D = JV (mg/L)| <0.0001 £ j B — I (mg/L) | <0.00005

¥ v 7 2 (mg/L)| <0.0001

F 7 4 7 JV 7 (mg/L)| <0.0001
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£ K i H H H28. 10. 18 % 7K i A H H28. 10. 18
EPN 7 * V > (mg/L)| <0.00001 F 7T A % Y & (mg/L)| <0.0001
A4 Y XY F 4 v F F Y v (mg/L)| €0.00005 ¥ - IV A N K (mg/L)| <0.0001
A4V 7 = K A A F Y (mg/L)|<0.000005 7T b7 7w LB AR A (CWMP) (mg/L)| <0.0001
- v K Z2 g 7 = — b (mg/L)| <0.0001 > b~ 7 o F Y — ) (mg/L)| <0.0001
CNP- 7 3 J & (mg/L) [€0. 000001 T 7 7 = /¥ K (mg/L)] <£0.0001
7 v ¥ U KR AL F Y v (mg/L)] <0.00001 Y X F W Xy 7 = F ) (mg/L)| <0.0001
A4 T YV ) v A& F v v (mg/L)| €0.00001 U 7 o 2 Y — L (mg/L)| <0.0001
7 z=btuaFF o FF Y (mg/L)| €0.00005 + 7 v 7 = K (mg/L)| <0.0001
MPP 2 L & F ¥ K (mg/L)| <0.00005 = va N =4 5 2 (mg/L)| <0.0001
MPP 2 JL N > (mg/L)| <0.00005 XNy w7 b Z Y — b (mg/L)| <0.0001
MPP %+ ¥ v > (mg/L)| <0.00005 [ A bk = v v (mg/L)| <0.0001
MPP 4 &% ¥V v A2 b A % ¥ F (mg/L)| <0.00005 o Y A2 7 a rx F o o(mg/L)| <0.0001
MPP + % vV > Z2 A & > (mg/L)| <0.00005 U Ny 7 A F L (mg/L)| <0.0001
7 % I &k A 4 ¥ Y v (mg/L)| <0.0001 Y I ks A A F L (mg/L)| <0.0001
7 v ® 7 F K5 7 v F (mg/L)| <£0.0001 7 7 A k =4 JL (mg/L)| <0.0001
~ 7 F 4 v 4 % v v (mg/L)| <£0.0001 7 N 7T Y & v 7 (mg/L)| <0.0001
7 w2 = 5 (DCPA) (mg/L)| <0.0001
7 kv X 7 Y F (mg/L)| <0.0001 A =1 2 A 2 (mg/L)| <0.00001
4 2 % 27 v ZF U F (mg/L)| <0.0001 7 v % L ¥ v bk (BPPS) (mg/L)| <0.0001
> 7 = F Y —  JL (mg/L)| <£0.0001 7 w K ¥ Z L (PHO) (mg/L)| <0.0001
=4 7 7 = Rz 2 (mg/L)| <0.0001 VA = A k ) v (mg/L)| <0.0001
7 N A 7 7 I F (mg/L)| <0.00001 N X A4 K B v 7 (mg/L)| <0.00005
7 = -~ T JL (mg/L)| <0.0001 D ¥ D 2 (mg/L)| <0.00001
~ vy b F Y Y v (mg/L)| <0.0001 N 2 il ) K (mg/L)| <0.0001
2 i = > (mg/L)| <0.0001 £/ 7 un b A A (mg/L)| <0.00001
A 7 7 m  — L (mg/L)| <0.0001 ) = E = v (mg/L)| <0.0001
T YNV F g =5- A F L (mg/L)| <0.0001 7 Y ¥ v 2 k v v » (mg/L)| <0.0001
7 A bk ) > (mg/L)| <0.0001 4 A = D 7+ v (mg/L)| <0.0001
A4 F XN~ T 4 F (mg/L)| <0.0001 Vi =4 = ks 7 (mg/L)| <0.0001
A4 <= Y 2 A 7 v v (mg/L)]| <0.0001 v va o =t v~ (mg/L)| <0.0001
7 = =@ F Y — s P (mg/L)| <0.0001 > = N 7 wa — J (mg/L)| <0.0001
= F ¥ ¥ A2 A 7 v v (ng/L)| <£0.0001 kv 7 owv R A A F gL (mg/L)| <0.0001
= F N v ¥ = F (mg/L)| <0.0001 N nm R L 7 v v A F L (mg/L)| <0.0001
4+ * Y 7 X A (mg/L)] <0.0001 v g = v 7 A (mg/L)]| <0.0001
%+ x Va 2 v (mg/L)| <0.0001 vy 7 e % v 7 = v (mg/L)| <0.0001
X ¥ o kx v ¥ = F o (mg/L)| <0.0001 7 5 ¥ =z g 7 v v (mg/L)| <0.0001
s v F 7 = ¥ v (mg/L| <0.0001 4 L b~ Z = v (mg/L)| <0.0001
s v < 7 = /J ¥ F (mg/L)| <0.0001 ~ v Jj K (SAP) (mg/L)[ <0.0001
7 m L B — )L Y A F )L (TICTP) (mg/L)| <0.0001 N v A 7 v v A F v (mg/L)| <£0.0001
s/ v b ¥ U K A A F b (mg/L)| <0.0001 AR + A Jb (mg/L)| <0.0002
Y7 v 7 = v F F v (ECP) (mg/L)| <0.00005 PV Z R AAFLFFR Y (mg/L)| <0.0001
D 7 = A D v (mg/L)[ <0.0001
Yy om A 7 v v 7 (ng/L)| <0.0001 + ® ¥ ¥ 7 Y v (mg/L)| <0.0001
v ) A g 7 v v (mg/L)| <0.0001 y \m Ak ¥ ¥ = Jv (mg/L)| <0.0001
P4 J va 7 7 >~ (mg/L)| <0.0001 YV ZuobEr-2-7 bF v =F /) (mg/L)| <0.0001
Y 7 = J =2 F v — JL (mg/L)| <0.0001 = F ®m 7 = v (NIP) (mg/L)| <0.0001
v 7 L X v X um v (mg/L)| <0.0001 VA =1 S V4 v (mg/L)| <0.0001
Y 7 v oo F Y — L (mg/L)| <0.0001 - & b U x — b (mg/L)| <0.0001
D - = v = U (mg/L) | <0.0001
Y A o F Y — L (mg/L)| <0.0001
v R F E v kK A (mg/L) <0. 0001
vy 7 7 N F 7 = v (mg/L)| <0.0001
D4 v A 7 ) v (mg/L)[ <0.0001
F 7 7 v 7 K (mg/L)| <0.0001

- 462 -




3 RO KERA

(11) FBOKIEEZERF FKE v 2 —EW

(2) BYEFROMERE
@ EHREr UK HEPKIER)

24 7K A H H H28.4.5 @ H28.5.11 | H28.6.7 | H28.7.5 | H28.8.3
PN iz 55l N & 5] 5
& S (©) 8.5 20.0 17.7 21.2 25.5
7K ) (©) 16.0 19.1 9.0 21.0 22.0
— 154 gk ({8 /mL) 0 0 0 0 0
X % (MPN/100mL) 0 0 0 0 0
B RFITAEROPZEDONHREDY (mg/L) — — <0. 0003 — —
KR K O F O b A& W (mg/L) — — | <0.00005 — -
t L v kX ZE O AEWY (mg/L) — — <0. 001 — —
m k O F o & W (mg/L) — — <0. 001 - —
t # K O 2 o b A& W (mg/L) — — 0. 002 - —
A A - N | (mg/L) — — <0. 005 - —
i it 1S i3 z= F# (mg/L) — — <0. 004 - —
T MM A v RNk T v (mg/L) — — <0. 001 — —
HREEE LK OEMEEBEZRZER (mg/L) — — 0. 49 — —
7 v F K O EF 0/ E W (mg/L) — — <0. 08 — —
r v F L O EF 0 E W (mg/L) — — 0. 06 — —
| #H 1t R F# (mg/L) — — | <0.0001 - —
1, 4- > 7 e va N (mg/L) — — <0. 001 — —
vA-,2-YVZmuxF LK
N A-L2-Y /ra T L (mg/L) — —| <0.0002 — —
v 7 = = 2o (mg/L) — — <0.0001 — —
S r 5 Z v owm x F L v (mg/L) — — <0.0001 — —
kYU Y/ v v = F L o (mg/L) — — <0.0001 — —
~ N + N (mg/L) — — <0.0001 — —
ey 3 [ (mg/L) <0. 06 <0. 06 <0. 06 0. 06 0. 06
7 i |=d i3 fiz (mg/L) — — <0. 002 — —
7 | = N L U (mg/L) — — <0.0001 — —
4 7 = =t fifE fiz (mg/L) — — <0. 002 — —
Y 7 v % 7 u na A K v (mg/L) — — | 0.0003 — —
= S [ (mg/L) — — <0. 001 — —
WO U N o m X 2 (mg/L) — —0.0007 — —
k ) 7 =4 o e iR (mg/L) — — <0. 002 — —
=T S A = = S S (mg/L) — —0.0002 — —
va = £ i L N (mg/L) — —| 0.0001 — —
A A A 7 A F B KR (mg/L) — — <0. 002 — —
m e kX O F o b & W (mg/L) — — <0. 005 - —
T2 KO ZETOlEY (mg/L) — — <0.01 — —
% Kk O O b & W (mg/L) — — <0. 01 - —
&k O F o bk A WY (mg/L) — — <0. 01 — —
FT PV U LAKEOEZEDOIREDY (mg/L) — — 13 — —
~ v kR E DO EWY (mg/L) — — <0. 005 - —
H (4 W A 7 N (mg/L) 6.5 6.7 6.8 6.9 7.0
NV T, TR NEGEE) (mg/L) — — 110 — —
7 i 53 E{g W] (mg/L) — — 227 — —
= 4 4 v Rom E M A (mg/L) — — 0. 01 — —
D4 B 7 A 2 v (mg/L) — — — — —
2- A F A4 VKRR I — b (mg/L) — — — - —
¥ 4 & > K om i A (mg/L) — — <0. 005 - —
7 - J — L $A (mg/L) — —|  <0.0005 — —
H#Y (&A% xR #E (T0C) O & (mg/L) 0.1 0.1 0. 1 <0. 1 0. 1
p H i 7.5 7.5 7.5 7.6 7.5
S Bl | BEaL ) BEAL | BEaL | BEWAeL
= = HEhL | BE2L BEAelL | BEELRL | BEAL
&) 3 (BD) <0.5 <0.5 0.5 0.5 0.5
) E (BE) 0.1 <0.1 <0.1 0. 1 <0.1
153 5)’ ey e (mg/L) 0.3 0.3 0.3 0.4 0.3
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128.9.6 | H28.10.4 H28.11.9 | H28.12.6 | H29.1.11 @ H29.2.8 | H29.3.8 [N e/l St
i Ei & i i Ei fif§
26.5 24.0 9.0 15. 4 7.8 5.3 8.1 26.5 5.3 15.8
20.6 21.1 18.0 15.5 13.7 13.5 13. 4 22.0 13. 4 17.7
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
<0. 0003 —| <0.0003 — <0.0003] <0.0003  <0.0003  <0.0003
<0. 00005 — — | <0.00005 — —| <0.00005| <0.00005 <0.00005 <0.00005
<0. 001 — — <0. 001 — — <0.001 <0. 001 <0. 001 <0. 001
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
0. 002 — — 0. 002 — — 0. 002 0. 002 0. 002 0. 002
<0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
<0. 004 — — <0. 004 — — <0. 004 <0. 004 <0. 004 <0. 004
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
0.52 — — 0.51 — — 0. 48 0.52 0. 48 0.50
<0. 08 — — <0. 08 — — <0.08 <0. 08 <0. 08 <0. 08
0. 06 — — 0.07 — — 0.07 0.07 0. 06 0.07
<0. 0001 — — | <0.0001 — —| <0.0001] <0.0001  <0.0001  <0.0001
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
<0. 0002 — —| <0.0002 — —| <0.0002] <0.0002  <0.0002|  <0.0002
<0. 0001 — — | <0.0001 — —| <0.0001] <0.0001  <0.0001  <0.0001
<0. 0001 — — | <0.0001 — —|  <0.0001] <0.0001  <0.0001  <0.0001
<0. 0001 — — | <0.0001 — —| <0.0001] <0.0001  <0.0001  <0.0001
<0. 0001 — — | <0.0001 — —|  <0.0001] <0.0001  <0.0001  <0.0001
<0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06
<0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
<0. 0001 — — | 0.0001 — —|  <0.0001] 0.0001 <0.0001  <0.0001
<0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
0. 0002 — — | 0.0003 — —| 0.0003 0. 0003 0. 0002 0. 0003
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
0. 0006 — — | 0.0008 — —| 0.0006 0. 0008 0. 0006 0. 0007
<0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
0. 0002 — — | 0.0002 — —| 0.0001 0. 0002 0. 0001 0. 0002
0. 0001 — — | 0.0001 — —| 0.0001 0. 0001 0. 0001 0. 0001
<0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
<0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
<0. 01 — — <0.01 — — <0.01 <0.01 <0. 01 <0.01
<0. 01 — — <0.01 — — <0.01 <0.01 <0. 01 <0.01
<0. 01 — — <0.01 — — <0.01 <0.01 <0. 01 <0.01
13 — — 14 — — 13 14 13 13
<0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
7.2 7.5 7.3 7.1 7.1 7.1 7.1 7.5 6.5 7.0
110 — — 110 — — 110 110 110 110
209 — — 217 — — 214 227 209 217
<0. 01 — — <0.01 — — <0.01 <0.01 <0. 01 <0.01
<0. 000001 — — — — — — — — | <0. 000001
<0. 000001 — — — — — — — — | <0. 000001
<0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
<0. 0005 — — | <0.0005 — —|  <0.0005] <0.0005  <0.0005  <0.0005
<0. 1 <0. 1 <0. 1 <0. 1 0.1 <0. 1 0.1 0.1 <0. 1 <0. 1
7.5 7.5 7.6 7.5 7.4 7.5 7.5 7.6 7.4 7.5
Bl | BEaL ) BEAL | BEAL ) BEAaL ) BEALL | AWARL — — HEL
Bl | BEaL ) BEAeL | BEAaL ) BEWAaL ) BEALL | BAWARL HBERL
0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
<0. 1 0.1 <0. 1 <0. 1 <0.1 0.1 <0. 1 <0. 1 <0.1 0.1
0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.4 0.3 0.3
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3 RO KERA

(11) FBOKIEEZERF FKE v 2 —EW

(2) BYEFROMERE
@ EHREr UK HEPKIER)

% K s A H H28.4.5  H28.5.11 @ H28.6.7 | H28.7.5 | H28.8.3
Ty FEUVUEOPZETOIAEY (mg/L) — —| <0.0003 — —
v 7 v kWY E O AE D (mg/L) — —|  <0.0002 — —
= v F NV EDRZEOIRAEDY (mg/L) — — <0.001 — —
L,2- ¥ / w wu == X v (mg/L) — — <0. 0001 — —
b JL - v (mg/L) — — | <0.0001 — —
THEANVNEY (- F LN F L) (mg/L) — — — - —
i) e # 7 (mg/L) — — <0. 06 — —
Y g w7 & = kU b (mg/L) — — <0.001 — —
) K 7 i v — JL (mg/L) — — <0.001 — —
2 S Ei| — — — — —
g e R i3 (mg/L) — — — — —
LL1I- Y 7 vwow x X v (mg/L) — — <0. 0001 — —
A F ) -t- 7 F )L —F )L (MBE) (mg/L) — —| <0.0001 — —
B K ®m E (T O N ) <1 <1 <1 <1 <1
BaEME (5 4% ) 78 ) — — — — —
e = 5 % il (f# /mL) 46 44 18 26 34
LI- ¥ 7 v o =x F L v (mg/L) — —| <0.0001 — —
Bk = P 3 iful (MPN/100mL) — — — — —
£ b ¥ W B R E R & (mg/L) — — — — —
b 17 i F (mg/L) — — — — —
v L > 1 (MPN/L) — - — - -
I = i3 3F fia (MPN/L) — — - — —
PN Vi B (MPN/100mL) 0 0 0 0 0
& fE Mk d 8 Bk (MPN/100mL) — — — — —
T o o ® = 7 B % & (mg/L) - - - - -
7 v v v 2 (mg/L) - - - - -
~ 7 = v v WA (mg/L) — — — — —
it iy A 7 N (mg/L) — — 52 — —
b U N \v A X v R (mg/L) — — — — —
B 7 L b ] iy (mg/L) — — — — —
o = 5 g R (mS/m) 28.9 28.9 28.8 29.0 28.9
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H28.9.6 = H28.10.4  H28.11.9 | H28.12.6 | H29.1.11 | H29.2.8 H29.3.8 K /) S
<0. 0003 — — <0. 0003 — — <0. 0003 <0. 0003 <0. 0003 <0. 0003
<0. 0002 — — <0. 0002 — — <0. 0002 <0. 0002 <0. 0002 <0. 0002

<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001

<0. 001 — — — — — — — — <0.001
<0. 06 — — <0. 06 — — <0. 06 <0. 06 <0. 06 <0. 06

<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001

<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0.001

<0. 001 — — — — — — — — <0. 001

4.7 — — — — — — — — 4.7
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1

—0.7 — — — — — — — — -0.7

10 23 14 10 22 12 14 46 10 23
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001

0 0 0 0 0 0 0 0 0 0

30 — — — — — — — — 30

8.8 — — — — — — — — 8.8

51 — — 51 — — 51 52 51 51

72 — — — — — — — — 72

28. 7 28.9 29. 4 29.6 29. 4 29.5 29. 4 29.6 28. 7 29. 1

- 466 -




3 FAKEOKERE
(11) FEAEEEN FRKEE 2 —EN
(2) HAL R OIE R
@ EIE Ok HEKIER)

£ K i H H H28.9. 6 2 7K i A H H28.9. 6
L3-Y Jenm7  na’” v (DD (mg/L)| <0.0002 F 4 7 7 x — b A F b (mg/L)| <0.0001
2,2-DPAC % Z K v ) (mg/L)| <£0.0002 F F N v o 7 (mg/L)]| <0.0001
2, 4-D (2, 4-PA) (mg/L) | <0.0001 F v 7 v 7 (MBPMC) (mg/L)| <0.0001
EPN (mg/L) | <0.00001 b Jj Vi = =5 JL (mg/L)| <0.00005
MCPA (mg/L) | <0.00005 U 7 w v A&~ (DEP) (mg/L)| <0.00005
7 DV e 7 2 (mg/L)| <0.0001 U 5 Y — L (mg/L)| <0.0001
7 + 7 - — L (mg/L)| <0.00005 Vo7 v Z U v (mg/L)| <0.0001
7 b 7 D > (mg/L)| <0.0001 7 7 =4 S 3 K (mg/L)| <0.0001
7 = = N 2 (mg/L)| <0.00001 =4 ~ = A 2 (mg/L)| <0.00001
7 N b = 2 (mg/L)| <0.00005 v 5 Y ¥ v 7 = v (mg/L)]| <0.00001
7 7 7 = — v (mg/L)[ <0.0001 YU x—h(ETFYL— 1) (mg/L)| <0.0001
4 Y ¥ ¥ F 4 v (mg/L)| <0.00005 vy F 7 = v F G v (mg/L)]| <0.00001
4 vV 7 = v & A (mg/L)| <0.00001 vy 7 F  H v 7 (mg/L)| <£0.0001
A4 YV ZF v H N 7 MIPC) (mg/L)| <0.0001 =4 =t * = v (mg/L)| <0.0001
A4 Y 7 v F F F v (IPT) (mg/L)| <0.0001 7 + - & = JV (mg/L) [<0. 000005
A4 7 m ~X o &/ A (IBP) (mg/L)| <0.0001 7 = = k v F F > MEP) (mg/L)| <0.0001
A4 v ¥ 2 7 7 v (ng/L)| <0.00005 7 = J 7 H v 7 (BPMC) (mg/L)| <0.0001
— 2 7 w H N 7 (mg/L)| <0.0001 7 = v F F v (PP) (mg/L)| <0.00005
= ¥ 4 7 = v & A (EDDP) (mg/L)| <0.00005 7 = v bk = — bk (PAP) (mg/L)| <0.00005
Tz 7 x v 7 ua v 7 A (mg/L)] <0.0001 7 = v b 7 ¥ I K (mg/L)| <0.0001
T RYTPTY— (s a A=) (mg/L)| <0.00001 7 VA 7 A K (mg/L)| <0.0001
T RALT (R ) (ng/L)|  <0.0001 7 v Vi = — b (mg/L)| <0.0001
% v s v A A v (mg/L)| <0.0001 7 v 3 2 A (mg/L)| <0.0001
% v v 8 (A H 8 ) (mg/L)| <0.0001 7 7 m 7 = ¥ v (mg/L)| <0.0001
4+ U # 2 kr mw v v (ng/L)] <0.0001 7 JL 7 Y e A (mg/L)|  <0.0001
H = Va N 2 (mg/L)| <0.00001 7 v F 7 7 v — J (mg/L)| <0.0001
H 7 = v A b B — JL (mg/L)| <0.00005 7 = v 3 & > (mg/L)| <0.0001
H oo U (NAO) (mg/L)| <0.0001 A = ¥ %+ Rz 2 (mg/L)| <0.00001
/Y VR S = A S R (mg/L)| <0.0001 7 v ¥ a2 F Y — L (mg/L)| <0.0001
H JL i 7 = > (mg/L)| <0.00005 -7 = = A N K (mg/L)| <0.0001
x /) 7 5 2 v (ACN) (mg/L)|[ <0.00005 7 v N Y — L (mg/L)| <£0.0001
* Y 7 vl > (mg/L)| <0.0001 A = * 7 ¥ F (mg/L)| <0.0001
v N L = v (mg/L)| <0.0001 ~ J 2 Jb (mg/L)| <0.0002
7w A v v 7 (mg/L)| <0.0001 ~ N D Vi = v (mg/L)| <0.0001
s v )b = b v 7 = v (CNP) (mg/L)| <0.00001 ~ v v v v oy o om v (mg/L)| <0.0001
7 w o F U & A (mg/L)| <0.00001 N v Y 7 = F v (mg/L)| <0.00001
s @m w F v = L (TPN) (mg/L)| <0.0001 ~ v vl V' v (mg/L)| <0.0001
D 7 7 D > (mg/L)| <0.00001 ~N v F 4 A& U v (mg/L)| <0.0001
¥ 7 ) & % (CYAP) (mg/L)| <0.00001 ~ v 7 5 H A 7 (mg/L)| <0.0001
D % =4 N (DCMU)  (mg/L) | <0.0001 Ry 7T Y v (RNRzZ2nr P ) (mg/L)| <0.0001
Y s . X = 5 OBN) (mg/L)| <0.0001 ~ v 7 v & — b (mg/L)| <0.0001
Y v w A AR % (DDVP) (mg/L)| <0.00005 A A F 7 ¥ — | (mg/L)| <0.00001
ALK (= FILF A A RY) (mg/L)| <0.00001 ~ 7 F 4 v (<~ 7 Y v ) (mg/L)| <0.0001
D F *+ =4 JL (mg/L)| <0.00005 A a2 7 wm v 7 (MCPP) (mg/L)| <0.0001
Yoo v Kk vy 77 F v (mg/L)| €0.00005 A v N JV (mg/L)| <0.0001
D < D N (CAT) (mg/L)| <0.00001 A v 7 * D b (mg/L)|  <0.0001
oA xR U ¥ (mg/L)| <0.0001 A F K F F v (DMTP) (mg/L)| <0.00001
D A k = — I (mg/L)| <0.0001 A F A KX 4 A m » (mg/L)| <0.0001
v A N U > (mg/L)| <0.0001 A b X /J A b v B ¥ (mg/L)| <0.0001
YA ¥~ L — b+ (mg/L] <0.00001 A 5 i 7 2 v (mg/L)| <0.0001
vl A 7 4 J v (mg/L)| <0.00001 A 7 = F ¥ v b+ (mg/L)| <0.0001
vl A A = > (mg/L)| <0.0001 A -7 = = Jb (mg/L)| <0.0001
¥ 7 D = )V (mg/L)| <0.0001 £ j 3 — I (mg/L) | <0.00005
¥ v 7 2 (mg/L)| <0.0001
F 7 4 7 JV 7 (mg/L)| <0.0001
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£ K i H H H28.9. 6 2 7K i A H H28.9. 6
EPN 7 * V > (mg/L)| <0.00001 F 7T A % Y & (mg/L)| <0.0001
A4 Y XY F 4 v F F Y v (mg/L)| €0.00005 ¥ - IV A N K (mg/L)| <0.0001
A4V 7 = K A A F Y (mg/L)|<0.000005 7T b7 7w LB AR A (CWMP) (mg/L)| <0.0001
- v K Z2 g 7 = — b (mg/L)| <0.0001 > b~ 7 o F Y — ) (mg/L)| <0.0001
CNP- 7 3 J & (mg/L) [€0. 000001 T 7 7 = /¥ K (mg/L)] <£0.0001
7 v ¥ U KR AL F Y v (mg/L)] <0.00001 Y X F W Xy 7 = F ) (mg/L)| <0.0001
A4 T YV ) v A& F v v (mg/L)| €0.00001 U 7 o 2 Y — L (mg/L)| <0.0001
7 x=buaFF 4 XY (mg/L)] <0.00005 + 7 v 7 = K (mg/L)| <0.0001
MPP 2 L & F ¥ K (mg/L)| <0.00005 = va N =4 5 2 (mg/L)| <0.0001
MPP 2 JL N > (mg/L)| <0.00005 XNy w7 b Z Y — b (mg/L)| <0.0001
MPP %+ ¥ v > (mg/L)| <0.00005 [ A bk = v v (mg/L)| <0.0001
MPP 4 &% ¥V v A2 b A % ¥ F (mg/L)| <0.00005 o Y A2 7 a rx F o o(mg/L)| <0.0001
MPP + % vV > Z2 A & > (mg/L)| <0.00005 U Ny 7 A F L (mg/L)| <0.0001
7 % I &k A 4 ¥ Y v (mg/L)| <0.0001 Y I ks A A F L (mg/L)| <0.0001
7 v ® 7 F K5 7 v F (mg/L)| <£0.0001 7 7 A k =4 JL (mg/L)| <0.0001
~ 7 F 4 v 4 % v v (mg/L)| <£0.0001 7 N 7T Y & v 7 (mg/L)| <0.0001
7 w2 = 5 (DCPA) (mg/L)| <0.0001
7 kv X 7 Y F (mg/L)| <0.0001 A =1 2 A 2 (mg/L)| <0.00001
4 2 % 27 v ZF U F (mg/L)| <0.0001 7 v % L ¥ v bk (BPPS) (mg/L)| <0.0001
> 7 = F Y —  JL (mg/L)| <£0.0001 7 w K ¥ Z L (PHO) (mg/L)| <0.0001
=4 7 7 = Rz 2 (mg/L)| <0.0001 VA = A k ) v (mg/L)| <0.0001
7 N A 7 7 I F (mg/L)| <0.00001 N X A4 K B v 7 (mg/L)| <0.00005
7 = -~ T JL (mg/L)| <0.0001 D ¥ D 2 (mg/L)| <0.00001
~ vy b F Y Y v (mg/L)| <0.0001 N 2 il ) K (mg/L)| <0.0001
2 i = > (mg/L)| <0.0001 £/ 7 un b A A (mg/L)| <0.00001
A 7 7 m  — L (mg/L)| <0.0001 ) = E = v (mg/L)| <0.0001
T YNV F g =5- A F L (mg/L)| <0.0001 7 Y ¥ v 2 k v v » (mg/L)| <0.0001
7 A bk ) > (mg/L)| <0.0001 4 A = D 7+ v (mg/L)| <0.0001
A4 F XN~ T 4 F (mg/L)| <0.0001 Vi =4 = ks 7 (mg/L)| <0.0001
A4 <= Y 2 A 7 v v (mg/L)]| <0.0001 v va o =t v~ (mg/L)| <0.0001
7 = =@ F Y — s P (mg/L)| <0.0001 > = N 7 wa — J (mg/L)| <0.0001
= F ¥ ¥ A2 A 7 v v (ng/L)| <£0.0001 kv 7 owv R A A F gL (mg/L)| <0.0001
- F N v ¥ = F (mg/L)| <0.0001 N nm R L 7 v v A F L (mg/L)| <0.0001
4+ * Y 7 X A (mg/L)] <0.0001 v g = v 7 A (mg/L)]| <0.0001
%+ x Va 2 v (mg/L)| <0.0001 vy 7 e % v 7 = v (mg/L)| <0.0001
X ¥ o kx v ¥ = F o (mg/L)| <0.0001 7 5 ¥ =z g 7 v v (mg/L)| <0.0001
s v F 7 = ¥ v (mg/L| <0.0001 4 L b~ Z = v (mg/L)| <0.0001
s v < 7 = /J ¥ F (mg/L)| <0.0001 ~ v Jj K (SAP) (mg/L)[ <0.0001
7 m L B — )L Y A F )L (TICTP) (mg/L)| <0.0001 N v A 7 v v A F v (mg/L)| <£0.0001
s/ v b ¥ U K A A F b (mg/L)| <0.0001 AR + A Jb (mg/L)| <0.0002
Y7 v 7 = v F F v (ECP) (mg/L)| <0.00005 PV Z R AAFLFFR Y (mg/L)| <0.0001
D 7 = A D v (mg/L)[ <0.0001
Yy om A 7 v v 7 (ng/L)| <0.0001 + ® ¥ ¥ 7 Y v (mg/L)| <0.0001
v ) A g 7 v v (mg/L)| <0.0001 y \m Ak ¥ ¥ = Jv (mg/L)| <0.0001
P4 J va 7 7 >~ (mg/L)| <0.0001 YV ZuobEr-2-7 bF v =F /) (mg/L)| <0.0001
Y 7 = J =2 F v — JL (mg/L)| <0.0001 = F ®m 7 = v (NIP) (mg/L)| <0.0001
v 7 L X v X um v (mg/L)| <0.0001 VA =1 S V4 v (mg/L)| <0.0001
Y 7 v oo F Y — L (mg/L)| <0.0001 - & b U x — b (mg/L)| <0.0001
D - = v = U (mg/L) | <0.0001
Y A o F Y — L (mg/L)| <0.0001
v R F E v kK A (mg/L) <0. 0001
vy 7 7 N F 7 = v (mg/L)| <0.0001
D4 v A 7 ) v (mg/L)[ <0.0001
F 7 7 v 7 K (mg/L)| <0.0001
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